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L This Booklet contains 200 questions in all comprising the
following four parts:

Part A : General Awareness (50 Questions)

Part B : General Intelligence & Reasoning (50 Questions)

Part C : Numerical Aptitude (50 Questions) -
Part D : General English (50 Questions)

In questions, set bilingually in English and Hindi, in case of]
discrepancy, the English version will prevail.

All questions are compulsory and carry equal marks.

The paper carries negative marking. 0.25 marks will be
deducted for each wrong answer.

Answers must be shown by completely blackening the|
corresponding circles of the OMR Sheet against the relevant
question number by Black or Blue Ball-point Pen only.
Answers which are not shown by Black or Blue Ball-point Pen
will not be awarded any mark.

A machine will read the coded information in the OMR Sheet.
In case the information is incomplete or. different from the
information given in the application form, such candidate will
be awarded ‘ZERO’ mark.

Both OMR Sheet and Question Booklet must be handed|

Hall failing which your candidature will be suspended.

The manner in which the different questions are to be answered|
has been explained at the back of this Booklet (Page No. 56),
which you should read carefully before actually answering the
questions.

Answer the questions as quickly and as carefully as you can.
Some questions may be difficult and others easy. Do not spend
too much time on any question.

No rough work is to be done on the OMR sheet. Blank spaces
for rough work has been provided at the end of the question
booklet.

Use of Calculators or any electronic devices are strictly
prohibited.

You are prohibited from writing your name or making any
other distinctive mark on any part of the OMR sheet except in
the specified space.
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#T9T &h: AT SIRTGR L

PART—A: GENERAL AWARENESS

Who among the following was not a 158 eRRT § @ S aRag afaue
_ member of the Drafting Committee of £ YIETOT T T TEET e A1

Indian Constitution?
(A)  B.R. Ambedkar (A) dr3R. 3Esa

(B) Alladi Krishnaswamy (B) 37celrar W

(C) Rajendra Prasad (C) TerE Y

(D) Gopalaswamy Ayyangar (D) a‘frmmm’r TIIN
_ Which was described by.: |2, ot 3T 3eEeT o g gfaues &
' Dr. B. R. Ambedkar as the ‘heart and zazr 3N IMTCHT SART AT

soul’ of the Constitution?

(A) Right to Equality (A)  FHETIar &1 3SR

(B) Right Against Exploitation (B) enwor & favg FTTHR

(C) Right to Constitutional Remedies (C) gdu™es 3UgRl &1 3I8aR

(D) Right to Freedom of Religipn (D) mfr T 'Fq'FﬁIF!T T ITFR

Who appoints Secretary General of the 3. ARTT & ARG Hr ﬁ"qaﬁ-?r FiT

Lok Sabha? T & ;

(A) Deputy Speaker (A)  sureaer

(B) Speaker (B) gear

(C) President (C) rsgafa

(D) Leader of Ruling Party (D) weaTeE oo & T

The Government of India Act, 1935 was 4. IR TR EIA, 1935 B W
~ based on e 2

(A) Simon Commission (A)  @IEHT FHART

(B) I.ofd Curzon Commission (B) dIE eholed TIIET
~(C)  Dimitrov Thesis (C) ffAEE fHfaw

(D) Lord Clive’s report (D) @TE Foned @ RO
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5.

The method of impeachment of the

President of India is adopted from

(A) USA

(B) UK
() USSR

(D) France

Who among the fol[owing was not a
member of the Constituent Assembly
established in July 19467
(A) Dr. Rajendra Prasad

(B) K. M. Munshi
(C)° Mahatma Gandhi

(D) Abul Kalam Azad

Where was the ‘Azad Hind Fauj’
founded?

(A) Thailand
(B) Britain
(C) Ital\.Jr

(D) Singapore .

The Seven Pagodas of Mahabalipuram

are witnesses to the art patronized by

(A) Pallavas
(B) Pandyas
(C) Cholas

(D) Cheras

P

R & Teedfa W AEIfHEeT $ AR
gl ¥ 0TS TG?

(A)  3rAdrenT

(B) Ik

(C) aifaga e

(D) i

Trafafaa # @ @l oS 1946 H
T | T T HEET el AT
(A) =T Teig gaTe
(B) awa. M
(C) HETFHT?ﬂEﬁ

(D)  3fgel A HTSAG
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0. Japan Pa'r!iament'is known as 9. ST T HAS T FHgl ST 8
(A) Diet (A) G
(B) Dail (B) 2ar
(C) VYuan (C) 3T
(D) Shora (D) oM

10.  Who was the architect of Taj Mahal? 10. TSt Hgel &1 G HieT AT?

(A) Ustad Ahmad Lahouri (A) 3EdiE 3gAS AEHY
(B) Norman Foster (B) &ATHT wIFEeT '
(C) Henrylrwin (C) gy gﬁa;r
(D)  Shah Jahan (D) emESTET

11. Indonesia was a colony of which of the 11, gg’lﬁfﬂ'q*r Tfaf@g & § &9 S &1
following countries? 3af3der O
(A)  Spain (A) =
(B) Dutch (B) =
(C) Portugal (C) gﬁ?ﬂﬂ'
(D) Belgium (D) sfess

12. Which of the following is paired 12. AT d T arod A AF T
incorrectly? - : ST arm &2
(A) Pannalal Ghosh — Flute | (A)  geTerTer 99 - a@-&
(B) Guru Gopi Krishna — Kathak (B) e dr FEOT - HYH
(C) Nikhil Banerjee — Santoor (C) f@e g4 - H?LT
(D) Nandalal Bose — Painting (D) Hearer St - SN

13. The sum total of incomes received for 13. &, aq“\ﬁ' qr q‘\.—,ﬁ  Jat F AT

the services of labour, land or capital in
a country is called
(A) gross domestic product

(B) national income
(C) gross domesticincome

(D) gross national income

IO 31T &l Fool AT Fgellell &:

(A)  Wehel TS 3G
(B) Isdrr 3ma
(C)  @her B 3T

(D) weheT ISERT FHATS
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14.

15.

16.

17.

Total internal reflection cannot take
place when light goes from

(A) glass to water

(B)  water to glass

(C) water to air

(D) glassto air

Ashestos is formed of
(A) Calcium and Magnesium

(B) Copper, Zinc and Manganese

- (C) Lead and Iron

(D) Calcium and Zinc

A passenger standing in a bus is thrown
outward when the bus takes a sudden
turn. This happens due to

(A) outward pull on him
(B) inertia of motion
(C) change in momentum

(D) change in acceleration

Electric current in a metal wire is due to
the flow of:

(A) Electrons

(B) Protons

(C) lons

(D) Holes

14.

15,

16.

17.

gl iaRe Wrade =gl g dhal ST
TeRTT ST UALT BT o
(A)  @id & e B FHR
(B) ST & i@ @ 3R
(C) Ster & arg & AR
(D) T & 9 AT AR

TEIECH T WA G ¥
(A)  Hfeereer 3R AvehiRs
(B) iem, ST ST Haweher
(C) < 3 T

(D) Hfeerw 3R i

S &9 AeE Al ¢ ol §9 H @3
I aeY Fr 3T AR Sar g1 e 59
FROT BT &

(A) 3§ W SRl e

(B)  aifadhraTsca

(€) swies F aRad
(D) aor 3 uRed

g ¥ ar # Regd g fFes w9
& g 82

(A)  ZorFgler

B) shewr

(C) 3=

(D) &%
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18.

19.

(20,

21

Clothes keep us warm in winter because
they :

(A) supply heat

(B) do not radiate heat

(C) prevent air from contacfing the

body

(D) prevent the heat of the body from

escaping

Tesla is a unit of magnetic
(A)  Flux

(B) Induction

(C) Moment

(D) Field

The splitting of white light into its

components is due to

(A) Reflection
(B) Dispersion
(C) Refraction

(D) Transmission

Which of the following metals is used

for the manufacture of heating

elements provided in electric iron?

(A) Nickel
(B) Chromium
(C) Nichrome

(D) Tungsten

18.

19,

20.

gy

w0 o Wd § o @ € aaw

G

(A) et i 3Rt

(B) 7T fahrot & &Y

(O gar @ o & woF F 3 @
e

(D) e 1 a7 @ AT P @
b )

AT g AT TR SHS &
(A)  worerE

(B) Sserer

(C) &

(D) thres

A T F 3ER weH & e
fehereh HROT g &7 '

(A)  YwerFaer

(B) feraela

€ e

(D) cafAeeT

Pl & & foa urg 1 3w
fagga seall # 3ucstr A deal &
AT & e fFar S §?

(A) o

(B) A

(€ o

(D) Ireea
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22.

23,

24,

25;

26.

When the barometer reading dips
suddenly, it is an indication of

(A) hot weather

(B) calm weather

(C) Storm

(D)  dry weather

Ice is packed in saw dust because

(A) saw dust will not get melted easily

(B) saw dust is poor conductor of
heat

(C) saw dust is a good conductor of
heat

(D) saw dust does not stick to the ice

Who is first to introduce the concept of
Cold War, coining the term
"Stereotype”?

(A) Attlee
(B)  Paul Kennedy
(C) Walter Lippmann

(D) Thomas Friedmann

Who'is author of the book ‘The Politics
of Extremism in South Asia’?

(A)  Shashi Tharoor

(B) Kushwant Singh

(C) Nirupama Rao

(D) Deepa M. Ollapally

Which is the India’s first newspaper?

(A)  Hindustan Times
(B) Indian Express
(C) Deepika

(D) Bengal Gazette

22.

23

2.

25.

26.

st SR Hr A IEEE wA 8
ST &, aF e Hhd &

(A) et HitgH

(B) era HiwH

(C) 3l

(D) s A

aﬁ?aﬁrﬂﬁﬁsﬂﬁﬁt\ﬁmm

- § it

(A)  aRrer T § A e

" (B)  §TET FEAT & FAESD Qe ¢

(C) aTer AT & 37T AeF &
(D) &RMET T W FUHAT T ©
EOREEET s F JifRd I g

N qg H IFAURON H TFT HA
aTer Ugel edierd hiel A7?

(A)  weelr

(B) dfer aiar

(€ areex e

(D) ofmw Hsd=

= offafeFw 3T TFHCASH  §

mmwﬁmﬂﬁ%?
(A)  ofr o -
(B) wHerdd T

(C) ToegaT T

(D) &rar TA. Heddeell

R & g FATAN IF Hief AT 87?

(A) TgEdmeT TRl

(B) sSfEae wFEwd
(C) Sifter
(D) eTrer ISl
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27. Which treaty was signed on 28 June
19197
(A) Vienna
(B) Geneve
(C) Versailles

(D) Pearl harbour

28. Wallace Smith Broecker is the man who
coined and popularized which term?
(A) Posttruth
(B) Green revolution
(C) Global warming

(D) Sustainable development

29. Which one of the following divides India
into Northern and Southern parts?
(A) Equator
(B)  Tropic of Cancer
(C) Tropic of Capricorn

(D) Arctic Circle

30. Which one of the following countries
shares longest border with India?
(A) China
(B) Bangladesh
(C) Nepal

(D) Pakistan

27.

28.

29.

30.

28 ST 1919 &I T @M ¥ GETE
R a9 97
(A) e
(B) fomrar
© wwT
(D) ol gWR

g Ay §ie fhE eeg @l 3ifhd
3R Sl S rar?

(A) 9Ee g

(B) afteT YaleRret

(C) Feitger arfdar

(D) e SeaTET

ARd B 3cad R gfEoh wEr A
fasnfora & &

(A)  eprea Y@

(B) @b Y@m :

(C) @R Y@ & Fourmhfcatiia &
(D) 3mhfeas gec

Frafaf@a § & @i a1 U 4R &
(A) ==

(B) agemeer

(C)  SAdrer

(D)  wrferEdrer
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31.

32,

33.

34.

In which one of the following regions

does the Indus River originate?

(A) Ladakh
(8) Lahul
(C) Nepal

(D) Tibet

_Which one of the following places is

famous for production of railway

coaches?

(A) Nasik

(B) Kapurthala
(C) Kolkata

(D) Bhubaneshwar

The term ‘Operation Flood’ is associated
with ; '

(A)  Blue Revolution
(B) Golden Revolution
(C)  White Revolution

(D) Yellow Revolution

Which is the only Union Territory to
have a High Court of its own?

(A) Chandigarh

(B) Delhi

(C) Andaman & Nicobar

(D) Lakshadweep

| 33.

31.

32.

34,

Retatae # F fhw & F Ry a8
T 3egT el &7 |

(A) o

(B) wmgler
(C) &4rer
(D) fasad

efa@g § ¥ Fie O T e

et & e & B IRE ¥

(A) =TT
(B) =gz

(C)  =hrerhrcr
(D)  sfa=iRay

SiqYerT TS oe fHad TFEafad 87

(A) sl iR
(B) wafviw wmifa

(0 @ wE

(D) el shifer

v FE afdd weer o e
3od AR §

() <drrg

(B) faeell

(©)  sigaer 3R BEER

(D) craTeE™

10
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35. A person to be qualified for standing in a 35. U=Rd AT # @3 g & fau Iy
Panchayat election must have attained =g & 377 e B TR
the age of i
(A) 21 years (A) 21 ay
(B) 18 years (B) 18 a¥
(C) 25years (C) 25 gy
(D) 30years (D) 30 af
36. Cattles are capable of digesting cellulose 36. #Ier 39U EaRT Wiv S am 31E:}
present in tflwe gr'a.ss .j;md / .Or fodder that 3T TR 3 Ao Fogetst B A
~ they eat. This ability is attribute to the ; . :
# WeTA g1 81 TG &THCT
(A) presence of cellulose digesting (A) AT F Aol A FTel
bacteria in the rumen : i s
: Straror3t mﬁuﬁ
(B) production of cellulose by the (B) ®A« eanrr @r—zraﬂa'eo FT IcUC
rumen
(C)  acids present in the rumen (C) =da H arﬁa‘\z; Uiz
(D) ' prolonged retention of cellulose in (D) sfet & @_qm(vo Fr &9 THI
the rumen (-_ﬁ,; T T
37. Whiéh of the following has the most 37. m=faf@ag & & radr dcag afea
penetrating power? w30 2
(A) a-particles (A)  a-soT
(B) pB-particles (B) p-woT
| (C) y-particles (C) y-pur
(D)  All of the above (D) 3IWerd @i
38. The blackboard seems black because it 38. sdwdrs sﬂﬁ'tf Tl @S &ar §
(A) reflects every colour (A) &t o1 & wrafdd #aT &
(B) does not reflect any colour (B) fray off Tor & wafda &l
Il :
(C) absorbs black colour (C)  oprer L7 &I B T &
(D) reflects black colour (D) el LT A Wrafdd &
o i |
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39. Whatis the pH of pure water? 39. g ool & pH A fohear giar 87
(A) 1 (A) 1
(B8) 7 \By - 7
() 5 (C) 5
(D) 12 (D} 12
40. Which one of the following is not 40. TFAfa@d 7 ¥ TdEd g & U
- responsible for the global warming? Frrder 8t & ‘
(A) Carbon dioxide (A)  wTeeT SEHTEFATSS
(B)  Methane (B) #Hrda
(C) CFCs (C) <rower
(D) Slacked Lime (D) =wIf¥ee et
41. The velocity of sound in moist air is 41. HH ga'r.:fr egfa &Fr a9 h gar &
more than in dry air because the moist Jere # 3E g ¥ FiifF o &ar
air has a :
_'ﬁf
(A) less pressure than dry air (A)  oreeh gl I et H &H cdid
(B) more density than dry air (B) e gl &r GRol F e
Tefed '
(C) more pressure than dry air (C) e gl & el F 38+ gaga
(D) less density than dry air (D)  <rseh &aT T Jolell H FA beled
42. The term brown air is used for 42.  §3d T oz &7 T fREs v
fepar S 87
(A) industrial smog (A) 3t EAET
(B) sulfureous smog (B) HewrgyH TAET
(C) acid fumes (C) ufds e
(D) photochemical smog (D) wierFATe TAET

12
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43. Peroxyacetyl nitrate is a 43. WEHIUTHCSA ASce Uh
(A) acidic dye (A) 317N 318
(B) secondary pollutant (B) aﬁ?hw ECALD
(C) plant hormone (C) gy grAfaT
(D)  vitamin (D) faerfae

44. Members of the Union Public Service 44, FHg :AF Jar AT F AT fr
Commission are appointed by the PrafFa Ree garT $1 e £7
(A) President (A)J aseutd
(B) ~ Prime Minister (B) ermeresY
(C) Chief Justice (C) < ST
(D) Law Minister (D)  wrefet #HAT

45.  The total energy of an electron inside an 45.  uw TR % 3T UH SolFcld ol el
atom is FaT gl 3
(A) zero (A)  e=o
(B) more than zero (B) oo & o it
(C) lessthan zero . (C) <=a & ot &
(D) Infinite (D) 3=

46, A pérfectly competitive market has 46. TUH q\cﬁa: yfaeadf sor & #ia:d; 5
(A) on!y one seller (A) kg TF fQkdar

| (B)‘ at teast a few sellers (B) &H & FH TS ICETI
(C)  many buyers and sellers (C) =% @lier 3R fasar
! (D) firms that set their own prices (D) ¥ Hufeaar ST 39T FHET =T :
fAuiRa weh §

47. In arecession, GDP 47. HEY A, NS
(A) Grows ﬁegatively (A) FAFPRICHS & ¥ ol ¢
(B) Grows slowly (B) ¢fy-¢fY sgar &
(C) Grows rapidly (C) Iy scard
(D) None of these (D) =1 4+ T8

> 13
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- 48.

49,

50

Which one of the following is not a basic
feature of the Indian Constitution?

(A) Presidential government

(B) Federal government

(C) Parliamentary government

(D)  None of these

Plants are green

presence of a pigment called
(A)  Glucose
(B) = Nitrogen

(C) Chlorophyll

(D) Oxygen

ISRO stands for

(A) International Scientific Research
Organization

(B) Indian Science Research
Organization

(C) Indian Space Research
Organization

(D) International Space Research

Organization

because of the

48.

49,

50.

tfaf@g & @ el e ARdS
wfaeTeT & Her AT qE 67

(A)  eERre IEede

(B) HEr WHR

(€ wa?:rm

(D) o & IS 7

ﬁ?&mﬁﬁaﬁrmﬁaﬁ%wm
Y 8l 87

(A) e

(B)  emgctste

(C)  FeRIfher

(D)  3iterdiretet

ISRO &1 faeaia &9 &
(A) alsgE  ddifee SeEE
IS

(B) ot faamer rlaens Harast

(C)  sTReirr JcTRET T ISt

14
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PART-B: GENERAL INTELLIGENCE AND REASONING

51; If in a code, MIND becomes KGLB and 51. gfe MIND fdr g &, KGLB &«
ARGUE becomes YPESC, then what will ST ¥ 3K ARGUE Rt wig 7.
DIAGRAM be in that code? : 3

, YPESC & ST § , df 84 @is &
DIAGRAM &3T gI9T?
(A) BGYEPYK (A) BGYEPYK
~ (B) BGYPYEK (B) BGYPYEK
~(C) GLPEYKGB (C) GLPEYKGB
(D) LKBGYPK (D) LKBGYPK
592: If 'eraser' is called 'box', 'box' is called 52. gfe 'S @ died gl Sl g,
'‘pencil’, 'pencil' is called 'sharpener' and Sfre F SR P ST §, e
'sharpener' is called 'bag', what will a o e i
child write with? UK T A § ST e
e wEr S &, O sear fEw
for@am?

(A) Eraser (A) ww=

(B) Box (B) srorw

(C) Pencil Q)  d@er

(D) Sharpener (D)  omieX

53.  If DEER = 12215 and HIGH = 5645, how 53. afe¢ DEER = 12215 3T HIGH =

WP yout cdeEEL Y 5645 ¥ o 31T HEEL & % #izd
HLN?
(A) 2328 (A) 2328
(B) 3449 (B) 3449
(C) 4337 (C) 4337
(D) 5229 (D) 5229
e 15




Part-B: General Intelligence

" and Reasoning

ANO7CGLT2023

HT @ WA Y 3R aF

54.

55.

56

57.

If 'orange' is called 'butter', 'butter' is
called 'soap', 'soap' is called 'ink', "ink' is
called 'honey' and ‘'honey' is called
'orange’, which of the following is used
for washing clothes?

(A)
(B)
(C)
(D)

Honey
Ink
Butter
Orange

Study the diagram given below and

identify the region representing girls
who are employed but unmarried.

BEmployed

54,

S5E

afe AR F OHF@S FEl AT g,
FFG WG T A G, WG
HT 'EATET HEl Sl g, TI@I' ol '6e
FET o § AR 'Uge AR @Er
F1aT ¥, ar Fea@a & @ @l ar g
FU2 O F forw sgAer fRar Srdr 87

(A) <8
(B) ¥mgr
C) #FF@Ee
(D)  Ff

SR v aw RE @ 3eadE &R
3 ofRal & walAfca &= ard
& I TgaT HL S FRRA o Afchel
sffaared gl

(&

v Unmarried

A) 1
(B) 2
) 4
(D) 5

Four forms of a dice are shown below.

In this dice which digit will be on the

surface opposite to the digit 4?

(ii)
A) 1
(B) 2
(C) 3
(D) 5
The Minute hand of a clock is in

North-East at 4:30. Then in which
direction the hour hand will be at 10:30?

(A)  South

(B) North-West
(C) West

(

D) North-East

56.

(i11)

57,

(A)
(B)
(C)
(D)

UF U F IR &7 &S @ I gl
5@ T H 3w 4 & [QUld ddF W
HiT T 37 gIE? |

b N

@iv)
A) 1
(B) 2
() 3
(D) 5

uh uY A e Hogs 4:30 99
SeeR-qd # gl g1 ar Y 10:30 a9

we & g$ frw foem # gei?
(A)  cfaror

(B) IceR-ufRaH

(C)  uf=s

(D)  Icat-qd

16
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58. In a row of trees, a tree is 7" from left |58. 9=} &y v UfFa &, tH 9T € BN @
Ll 147 Dgpiid Dl Lo s e
oW? . ; ;
many trees are there in the r o & e T 2
(A) .18 (A) 18
(B) 19 (B) 19
(@220 (C).. 20
(D) 21 (D) 21
59. If the fime in cloekis:12.: 23. What is the 59. g ai A EAET 12:23 ¢ arcuor &
time in the mirror? TET FT &2
(A) 12:33 (A) " 12:33
(B). 1137 ¢B) 11437
(C) 12:37 (O apia]
(D) 1:23 (D)5 1823
60. Ravi and Priyanka celebrated their - |60. @ 3Rk fOger & YFar, 4 HTadl
\afs:iversaryl‘;)rthriday,l 4bFetbrl:?1rY 2005£ 2005 FI NTT ATATIRE AAE § 34
en wou ey celebrate their nex : o 5 52
anniversary on the same day? fet = .
(A) 2009 (A) - 2009
(8) ~ 2011 () 2011
(C) 2015 (€) - 2015
(D) 2010 (D) 2010
61. A'is the brother of B, C is the father of D, 6. A Bwrasg C, Darfarg E B
E iihthe Hmotl?e;: 011‘ B.di\ ?:r;d D are Aty ARDsEEIE CH
others. How is E related to C: iy
; ' - forer SR HeTerT &7
(A) Sister (A)  @geT
(B) Sister-in-law (B)  sqrefy
(C) Niece (C)  orefrsir
(D) Wife (D)  ger
62.  Six members of a family namely A, B, C, 620 U URER & ©g doed HiﬁT-[ A, B,
Dr; E and Ffaéebtravglling togeﬁher. ‘Br’] is C. D, E 3R F w& @y amm = W
the son o ut C is not the mother ! IR .
of B. A and C are married couple. E is the ol ; B' C & s e < B L
brother of C. D is the daughter of A. F is et 81 A 3R C faarfea siis €1 E, C
the brother of B. How many male & AE 8l D, AFradr gl F, B
members are there in the family? 3S | aRar #F frae oy Heeg §7
(A) 3 1 R
(B) 2 (B).~.22
(€) 4 ) 4
(D) 1 (D) 1
e i
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63.

64.

65.

An official meeting is attended by 130
department employees. Of them, 66
drink tea, 56 drink coffee and 63 drink
juice, 27 can drink either tea or coffee,
25 can drink coffee or juice and 23 can
drink juice and tea. 5 employees can
drink any of the three. How many
persons drink only tea?

(A) 21
(B) 22
(c) 18
(D) 20

P, Q, R and S are four friends. P is
shorter than Q but taller than R who is
shorter than S. Who is the shortest

among all?
(A) P
(8) Q
(€@ R
(D) S

Eight people A, B, C, D, E, F, G and H are
placed as shown in the diagram. All are
facing in the outward direction. If all of
them move anticlockwise to three
places, then

(A) Bisfacing West

(B) Eis facing East

(C) His facing North-West
(D) Ais facing South

63.

64.

65.

TF OERE dow H R@ewr &
130 FHAIE T od &1 39H #

66 Trg G & 56 @ihr 9 § 3R

63 3@ M 27 W W Frhr N
Ta & 25 HBT AT S@ W WHA &
Ak 23 @ IR T o@RT E
5 s der F ¥ T o & I
¥| Rrge oleT Shae IR 9 &7

(A) 21
(B) 22
() 18
(D) 20

P QRIS TN FTEP, QA
AT ¥ AT R & oleT § ST S & el
¥ @afy & waR AT HieT 87

(A) P
(B) Q
(C) R
(D) S

frg # Rww IER 36 @6l A, B,
C, D, E, F, G 3R H & @ . &l
Tl aTeY 1 AN Ty §l AT T
qred foe # et TUEl W o

(A) B @ @ aftad A I’ T

(B) E yd fomm & @FAU@ ©

(C) Hwﬂwﬁ?—qﬁaﬂaﬁrm%
(D) A & 7@ Sfar & AT

18
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In questions no. 66 to 68, a series is given, with one term missing. Choose the correct alternative
from the given ones that will complete the series:

weeT WEAT ¥ 66 ¥ 68 aF, TH A@em & ¢ ¥, Frwd v ug qea {1 Re qv Rehed H § 7w

e ReweT g ST ATer F G FI:
66.  SHG, RIF, QJE, PKD, ?

(A) NME
(B) NLB
(C) OLE
(D) OLC
87, = = 7,8.18,57,7,/1165
TR 174
fB)i:282
(G D24
(D) 228
68 © 10,325 6,7,12,9,20
(A) 9
(B) 10
(€)-i7
(D) 8

66.

67.

68.

SHG, RIF, QJE, PKD, ?

(A) NME

(B) NLB

(C)  OLE

(D) oOLC

7,8, 18,57, 7, 1165
(A) 174

(8) -232

(C).. 224

(D) - 228

10,3 25.6:7:12,9:20
(A) 9

(B) 10

1 e

(D) 8

In questions no. 69 to 73, select the related word/letters/number from the given alternatives: -
goe TEar & 69 ¥ 73 g%, U v RAeul # ¥ Fafd ec/3eR/TEAr i qhT Hil:

69. 720:840::60:? °

(A) 76
(B) 80
(€). 70
(D) 74
70, - 998 9EG 280 iR
(A) 234
(B). 361
(C) 324
(D) 432

7 Money : Misappropriation : : Writing : ?
(A)
(B)
(C) Plagiarism
(D) Theft

Deception.

Mistake

69.

70.

71,

720:840::60 :‘?

(A) 76

(B) 80

(€} 70

(D) 74
TP3BIERTL 78012

(A) 234

(B) 361

(C) 324

(D). :.482

e ;g : : ferEer 1 ?

(A a@ ;

(B)  arerdr

(€ wfgfcas arlr

(D) = '

19
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T2 YTOJ : XSNI : : WRMH : ? 12 YTOJ : XSNI : : WRMH : ?
(A)  VQLG (A)  VQLG
(B) TOIE (B) TOIE
(C)  RMHC (€)  RMHC
(D) UPKF (D)  UPKF
73. EIGK : EACY : : RVTY: ? 73. EIGK : EACY : : RVTY : ?
(A) RVSQ (A)  RVSQ
(B) RNPL (B) RNPL
(C) RWUY (C) RWUY
(D) RMPL (D) RMPL

Question no. 74 to 77. Study the given diagram carefully and answer the questions where
rectangle stands for business man, square stands for hard working, triangle represents artist and

circle represents singer.

T G, 74 F 77. RT T FG T AAGES AT FE AR wedt F Iead § gt JrA F
a&mﬁ_mﬁa%,aﬁmmﬁﬂﬁam%.ﬁaﬁwmmqﬁﬁﬂﬁm%aﬁr

Wmmqﬁﬁﬁﬁm%r

10

: 3
;
AR
g 124
R TR
9
74. What is the number of hardworking |74. Q& #Hgeldl gaTat fr e frae
businessmen who are artist but not ¥ o FaEr ar § afeT I er
singer? 2,
(A) 12 (A) 12
(B) 8 (B) 8
(C)= 7 € 7
(D) 9 (D) 9
- 75. How many singers are hard workers but | 75.  fadey M HeeAal GIEGRCTGIETRY
| not artist and businessman? 3l sggardT FE &2
(A) 6 (A) 6
(B) 4 (B) 4
(c 8 € 8
(D) None of these (D)  e1dl & PG Aol

20
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76. What is the sum of the numbers which 76. 37 GEIAIHT T T FAT § S had
represent only businessman and only srgarlt AR Faer g @ gty £
singer? .
(A) 13 (A) 13
By (B) 12
(C) 16 (€} il
(D) 14 (D) 14

75 How many persons have all the four? 77. fohde gfeadl & 99 ¥ IRT 67
(A1 (A). -12
(B) 9 (B). .9
(€ 2 (€2
(D) 4 (D) 4

78. A watch which gains uniformly, is 78. U& U S AR FT H Fear G
2 minute slow at noon on Monday and HHAR F1 9T & 2 e efely Bl
4 minute 48 second fast at 2:00 p.m. on e :
the following Monday. What time it & M - T aITeY 2:00 Ff
ways correct? : 4 TAeIe 48 Vs AT gl g1 I e

AT WE ads & TeIdr 87
(A) - 2:00 p.m. on Tuesday (A)  FHereEaR aget 2:00 e
(B)  2:00 p.m. on Wednesday (B)  weraw alugy 2:00 §of
(C)  3:00 p.m. on Thursday (C) TEAR agY 3:00 s
(D)  1:00 p.m. on Friday (D)  grshar eIgx 1:00 ot

79.  How many times do the handsof aclock | 79. we fer & =y &1 H‘\T‘r.'?:ﬁ el dX

' point towards each other in a day? e E{HT &I 30 SURT FIET &2
(A) '12 )

(B) 20 () 20
(€) 22 €y 22
(D) 24 (D) 24 _

80. A monkey climbs 30 feet at the 80. UF &y Ycdeh Te I QE3Tl H
beginning of each hour and rests for a 30 ®e gedr FS IR
while when he slips back 20 feet before ﬁh‘{ %naa-amtﬁ% ﬁa‘(
he again starts climbing in the beginning AU 20 ] o]
of the next hour. If he begins his ascent ¢ 3R 3mrer °@¢ oI # R A
at 8:00 a.m., at what time will he first AT AX FT &ar gl I 98 qeg
tc:gﬁlgdg flag at 120 feet from the 8:00 dor 39 warS o T &t
: : 98 g9 Uge e @ 120 e @

Fas ) Rua 33 & 6w 7T
BUaN? :
(A)  4:00 p.m. (A)  4:00 qates
(B)  5:00 p.m. ()  5:00 yalest
(C) 6:00 p.m. (C)  6:00 yafesr
(D) None of these (D)  zomay & HIS Adl
Fom 24
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Question no. 81 to 83. In each of the questions below are given three statements followed by
three conclusions numbered I, Il and lil. You have to take the given statements to be true even if
they seem to be at variance from the commonly known facts. Read all the conclusions and then

decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

mam.mtaa.mmwmmaﬁmmmmml.uaﬂrmmﬁ?r

a?ﬁﬁwmwa"!mmwmﬁmm%,aﬁﬁramﬁw:mmﬁ@

et eer B g1 e st Y 7 ok et o B R e fredt F ¥ A A A

mmﬁﬁmﬁmmﬁghwmﬁmaﬂwm#mm%l |

81. Statements: All dolls are windows. 81. YT T zl%?rr asfrar g1 Tl
All bottles are windows. sad  fasfeat ¥ gl b

All cars are bottles.

Yot &
Conclusions: I. All cars are windows. :
‘ i o |, wefr @y f@sfRar Bl
Il. Some cars are dolls. ’
11l. Some windows are cars. II. ;mm %@m gl
Il Fo fEsfHal R ol
(A) Onlyland Il follow 7 (A Faer | 3R 11 IETEROT A §
(8)  Only Il and Il follow. | (B) daer Il 3 Il 3TEOT A 5
(C)  Only I and Il follow (C)  aer | 3R 11 3TEOT A &
(D) Al follow : _ (D) wafr JEEROT Y

82. Statements: All snakes are ftrees. 82. FUA THT g 98 ’éfl iﬁﬁ LE S ECT

Some trees are roads. All : ¥ ash g=F IgTs Efl
roads are mountains. '
Conclusions: I. Some mountains are ﬁﬁﬁﬁ' . FT TS T &l
snakes. s
Il. Some roads are L 3285 | gl
snakes. . & 98ls 9z 8l
IIl. Some mountains are -
trees.
(A) Only I follow (A)  ael | &1 HTEOT AT &
(B)  Only Il follows (B) et Il &I ITEOT HCA §
(C)  Only il follows (C)  aer Il &1 ITEOT HIAT T
(D) Both land Il follow (D) | 3% 1l @il ITEOT HA g

L
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83.

Statements: Some towels are brushes.
No brush is soap. All soaps
are rats. :

Conclusions: |. Some rats are brushes.

Il. No rat is brush.
[Il. Some towels are soaps.

(A) - None follows

(B)  Only either | or Il follows

(C) Only Il follows
(D)  Only I and Il follow

83.

FUA: FO i FT Fl B FA
IS A E. W T T o
frse: |. o g 9 &l
II. SIS =TgT o1 =Tel &
ll. Fe& difde a9 &l
(A)  IE HTEROT AT HIT
(B) dger & o | AT Il 31eTAIOT

¥ |
(C)  ehdel Il 3TeTEROT T
(D) 3aer | 3T 1l 3HeTEOT A &

Question no. 84 to 86 In each of the following questions, a number sequence is given in which
except one of the terms in the sequence are alike. You have to find out the number which is odd
in the sequence. 5 :
UesT HEAT. 84 ¥ 86. m-m#ﬁwmwﬁww%ﬁﬁ'mﬁﬁﬁm
gelt Ug WA §| U gF WA AT F § N Aepher F R g

84.

85.

86.

8, 27,64, 125, 216

(B} 27

(B) 64

() 125
“(DY . 216"

..24148,227. 89421

(A) 18
(B) 222
(C) 82
(D) 421

2, 6,12,72, 824

(A) 6
(8) 12
(&) 72
(D) 824

84.

85.

86.

8, 27,64, 125, 216

(A) 27
(B) 64

(C...125
(D) 216

- 24,18, 222, 82,421
(A) 18

qB)y 222

(C). 82

(D) 421 -

2,6,12,72,824
(A) 6

(B) 12

(e 72

(D) 824
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87.

38.

89.

Rajesh walks 7 km to the north then
turns left and walks 3 km. Then takes
another left and continue walking this
time another 7 km forward. How much
distance in km is he away from the
starting point?

(A)  10km
(B) 6km
(C) 3 km
(D)  2km

A group of 1200 persons consisting of

captains and soldiers is travelling in a
train. For every 15 soldiers there is one
captain. The number of captains in the
group is .

(A) 85
(8) 80
(C) 75
(D) 70

An enterprising businessman earns an
income of Re. 1 on the first day of his
business. On every subsequent day, he
earns on income which is just double of
that made on the previous day. One the
10™ day of business, his income is

(A) Rs.29
(B) Rs.210
(C) Rs.10
(D) Rs.102

87.

88.

89.

Torer 7 AT 3caR A IR Tddr ©
R arff 3R Hgar § 3R 3 foen
Torar &1 T a8 3R #S 3R 3H IR
7 fEA 3ET Teer IR W 9
gifee fig @ frell & fhae gt W
27

(A) 10 TN

(B) 6 fr.AL

(C) 3 f&aA

(D) 2 fF.4AL

doesr R B @ A

1200 caf¥aat @ e wAg wH i A
AT F T Bl oA 15 AR W
T Feed gl 81 WHE H wedEl H
Hear §

(A) 85
~(B) 80

(€ 75

(D) 70

T FEIANS HGERT IHUA I

¥ tga o e ¥ 1 I3 Ao
AT ¥ | TAE e fed, @g 3ma
T war § o & Rod foT @
Wﬁ@@%l?&ﬁﬁ%M&%ﬁ
3EhT 31T gl &

(A) % 29
(B) %. 210
€ = 10
(D) = 102
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90.

91.

A ‘taxi driver commenced his journey
from a point and drove 10 km towards
north and turned to his left and drove
another 5 km. After waiting to meet a
friend here, he turned to his right and
continued to drive anothér 10 km. He
has covered a distance of 25 km so far,

but in which direction would he be

now?

(A)  North
(B) East
(C) South
(D) West

Today is Varun’s birthday. One year
from today he will be twice as old as he
was 12 years ago. How old is Varun

today?

(A)  20vyears
(B) 22vyears
(C) 25vyears

(D) 27 years

90.

o1,

U SHHl Aol o U fg @ 379
I & @ T 10 fRl 3eR A 3
o 3R A a5 3 AR 5 TR
AR Tem I§T v aed @ Ao @

A9k @R & d1G, dg U ligelr

R A5 R 3R 10 Rl 3R <

T 96 HT de 25 hall B g a7

F TH §, ofeher HT g5 e fGem &

gIeT?

(A)  FeX

(B) gd

(C) =fayor
g

(D)

HST GO0T FT SeAfeed g. Aol § Th
a¥ 91g 3HA I 12 a¥ uge Hr 3
#aﬁgﬁﬁamlmmaﬁrm
faraelr 82
(A) 20 a¥
(B) 22 a¥
(C) .25 g%
(D) 27 @y
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92.

g3.

94.

.also.

In a town, 65% people watched the
40%

newspaper and 25% read a newspaper

news on television, read a
and watched .the news on television
What percent of the 'people
neither watched the news on television

nor read a newspaper?

(A) 5

(8) 10
(C) 15
(D) 20

Sumitra has an average of 56% on her
first 7 examinations. How much she
should make on her eighth examination
to. obtain an average of 60% on 8

examinations?

(A) 88%
(B) 78%
(C) 92%
(D) 68%

A rectangular carpet has an area of
60 sq. m. If its diagonal and longer side
together equal 5 times the shorter side,
the Iehgth of the carpet is '

(A) 8m
(B) 12m
(C) 15m
(D) 14.5m

92.

93.

94.

T Al H, 65% CET ellfdelel W
THER &@d &, 40% T AR 97
Ted ¥ 3t 25% @eT TERR 99 9gd
£ 3ir Telifaee W o FER dEd gl
fraer wfaerd &1 & dr Sellfdesl W
FAFER 3Ed § 3R 7 & FWER god

&2

(&) -5 .
(B) 10
(C) 15
(D) 20

gﬁmm‘aﬁqﬁ?wﬁﬁﬁ
T 56% 1 8 gdemst F e

60% 3iF UTtd &l & ToIlT 3§ 3Tel

AT gdie & foRdeAT HAET AMgT?
(A) 88%
(B) 78%
(C) 92%
(D) 68%

TS TAATHN hlcllel T &Tahel 60 aof
#feT ¥1 Al gaer ol AR A S
ey BT Ho & 5 T F SR
&, ar relier T oS ¥

(A) 8 &
(B) 12 &
(C) 15 =#r

(D) 145 =#r
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85;

96.

97.

Kim can do a work in 3 days while David
can do the same work in 2 days. Both of
them finish the work together and get
Rs. 150. What is the share of Kim?

(A) Rs.40
(B) Rs. 60
(C) Rs.70
(D) Rs.75

In a certain code, ‘CONVENTIONAL’ is
written as ‘NOCNEVOITLAN’. How is
’ENTHRONEMENT' written in that code?

(A) TNEROHEMNTNE
(B) TNEORHMENTNE
(C) NTEROHEMNNTE
(D) TNEROHEMNNTE

Select the missing number from the
given responses.

(A) 64
(B) 121
() 81
(D) 100

95.

96.

T ww w @ 3 &t #F & gHar
¥ safe efas 3¢ & & 2 et &
T Hhal gl awel Ao A qu
wa ¥ 3t 150 T ura €1 fRE @

(A) % 40
(B) =. 60
€ = 70
(D) % 75

s AT FI5 #, ‘CONVENTIONAL’
@ ‘NOCNEVOITLAN' & &7 &
fmr Sar g 3@ @s A
‘ENTHRONEMENT &% far@r siar

®

(A)  TNEROHEMNTNE
(B)  TNEORHMENTNE
(C) NTEROHEMNNTE
(D) TNEROHEMNNTE

ffu v 3eadi # ¥ ovd dEwr @
TIT FY |

(A) 64
(B) 121
(C) 81
(D) 100
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98.

99.

100.

Select the missing number from the

given responses.

98.

few a0 3eea’i A & ovd HEAT H

Wﬁl_

(A)
(B)
(€)
(D)

97
107
189
67

11\\1///37 2l\\1///§7 41\\\(//3
88 108 CIHER

Complete the series:

81, 69, 58, 48, 39, ......

99.

(A)
(B)
(€)
(D)

7

10
22
31

Write the next number in the seriés:

(A) 14
(B) 27
(C) 81
(D) 36

100.

(A) 97

(B) 107

() 189

(D) 67

@ g AL

81, 69, 58, 48, 39, ..
(A 7

(B) 10

€ 22

(D) 31

aitazn' H 3rerelr Ear ford:
2,5, 4,9, 8, 15, ...
(A) 14

(B) 27

() 81

(D) 36
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PART-C: NUMERICAL APTITUDE

101. If five times the fifth term of an AP is 101. ufe fFeEY AP & Uid Ue & uid T,
equal to seven times, the seventh term AP ¥ THS uT ¥ A T ¥ qrac
of the AP, then what is the twelfth = ) 4
term? e el HE Ik o
(A) -1 (A) w1
(B) O (B) 0
(€]~ % 5 L
(B} =2 (D) =2
102. lf mis a positive integer and m> is 102. Ife m TH YATCHS q‘\uﬁch €3 m,
divisible by 48, then what is the 48 § BEST L oar m W W
minimum possible value of m? :
: TG A 4T 87
(A) 6 (A) 6 ‘
(B) . 9 (8] -9
o)A (e} 12
(D) 24 (D) 24
103. Three candidates contested an election 103. T 3FAICORT o W AT TS ird
and received 1!136, ,h7636 and 11625; 5= @A 1136, 7636 3 11628
votes respectively. What percentage o
the total votes did the winning die gred gl EERUEIACEIN g
candidate get? AT T FohciaT gfcRrd ured g3m?
PA) = 57% (A) 57%
(B) 77% (B) 77%
(C) 80% (C) 80%
(D) 90% (D) 90%
'104. The sum of four terms in an AP is 64. | 104. ©weh AP & =X Y&l &r IJET 64 Fl
The product of the extreme terms is P ‘FFUI?-FW .
220. Find the first and fourth term el s 2 2081
AR wter ug A HifaT
(A) 14,28 (A) 14,28
(8) 10,22 (B) 10,22
(C) 28,14 (C) 28,14
(D) 6,30 (D) 6,30
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- 105.

106.

107.

108.

If x and y are integers and x + y is even,

which of the following must be even?

(A)
(B)
(€)
(D)

X

y
Xy
Xx(y+1)

The sum of place value and face value of

8in 43836 i.e.
(A) 88

(B) 808

(C) 880

(D) 888

The sum of natural numbers which are

divisors of 100 is

(A)
(B)
(€)
(D)

116 -
117
21
217

When % of a number is subtracted from

the number itself, it gives the same

value as the sum of all angles of a

(A)
(B)
(€)
(D)

- triangle. The number is

224
210
140
120

105. afg x 3N y quifer § 3R x + y @A
g, ar Pefaf@a & @ il ar @\
gleAT TIgu?

106.

107.

108.

(A)
(B)
(C)
(D)

43836 H TART AT 33T 3Ifha AT
8 T AT 3

(A)
(B)
(€)
(D)

88

808
880
888

3T Wihd HEA3T 1 AT S 100 &
HISTh &,

(A)
(B)
(C)
(D)

116
117
21

217

m%%@rmﬁﬁrmmw

& orelr §, ar g8 B & @l o
F TAET & FAS HET U FAl el
HEAT §:

(A)
(B)
(C)

(D)

224
210
140
120
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109.

110.

11

112.

A number when divided by a divisor
leaves the remainder 24. When twice
the original number is divided by same
divisor, the remainder is 11. The value
of divisor is

(A)
(B)
(C)
(D)

The breadth of a rectangle is 25 m. The
total cost of putting grass bed on this
field was Rs. 12375 at the rate of Rs. 15
per sq m. the length of rectangle is

(A) 27cm

(B 30cm
(€) 33 cm

(D) 32cm

A common factor of [(41)" + (43)*] and
[(41)* + (43)" is:

(A) (43-41)
(B)  [(41)* +(43)"]
(€  [(41)® +(43)"]
(D) (41+43)

If the areas of three adjacent faces of a
cuboidal box are 120 cm?, 72 cm?® and
60 cm? respectively, then the volume of
box is :

(A) 820cm’
(B) 720cm’
(C) 750 cm’
(D) 850 cm?

108S.

110.

i b B 1

112.

THh AT H Aelh & [enfaa &t
T QAW 24 qEaT g1 S9 HeT qEdl
T QAT 3T Holh & IS H
qT AN 11 37T g1 #Teieh &1 Al

=

(A) 13
(B) 59
(C) 36
(D) 37

TR 3T T Gl 25 A Bl oW
N O T T AER e T Pl
aeTa 15 9 ufd aeteer @ X @
12375 9 ofl, 3T & el &
(A) 27 &+ i

(B) 30 @I

(C) 33 ¥=T

(D) 32 @AY

(A1) + (43)"] and [(41)" + (43)"]

& U AT a;vm@? -5
(A) (43-41)

(B) [(41)" +(43)™]

(C)  [(41)"® +(a3)*]

(D) ~(41+43)

qﬁwaﬂwﬁs—&#z—ﬁﬂm

Bl @ &Ethd 120§ FHP,
72 ¥A? 3R 60 e QA ar dFd
HT 3T g

(A) 820 ¥

(B) 720 THP

(C) 750 &

(D) 850 @&
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113. 3 o2 of L of 1664is: 113. 1664 ¥ — @ 2dF @ > g
4 6 10 10 6 4
(A) 648 (A) 648
(B) 762 (B) 762
(C) 612 (C) 612
(D) 728 (D) 728
114. % part of a pencil is black and % parf of |114. % T U8 $T TH HWT Sl § 3R
remaining is white. If the remaining part
| | %%Tqmm?lﬁa‘mm;hm
is blue and length of blue part is 3%cm 3
$ 3R A s A oS 31 [ 3,
then length of pencil is: 2
ar 9w i d6rs g
(A) 6cm (A) 6 a#T
(B) 7cm (B) 7 @er
(€ 8em © 8w
(D) 9cm (D) 9 ¥/HT
115.  The value of 0.142857+0.285714 is : 115.  0.142857+0.285714 T HI &
A 1 (A) 1
2 2
(B) 1 (B) 1
3 3
@ 2 ) 2
(D) 10 (D) 10
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116.

117,

118.

119.

If a number is multiplied by three -
fourth of itself, the value thus obtained
is 10800, the number is:

(A) - 210
(B) 180
(C) 120
(D) 160

Twice the difference between two
numbers is equal to their sum. If larger

‘number is 15, then another number is:

(A) 12
(B) 10
(€ 5
(D) 9

If the area of a regular pentagon is

12543 sq c¢m, then length of each side
is:

(A) 15cm
(B) 16cm
(C) 10cm
(D) 25cm

Three cubes of sides 1cm, 6 cm, 8 cm
are melted to form a new cube. Half of
surface area of new cube is:

(A) 243 cm®
(B) 463 cm’
(C) 486 cr:n2
(D) 493 cm?

| 116.

117.

118.

(B)

119.

afe el gear & 39% dia-giars a
o f&Rar Sw, dF gred A 10800 g,
TET &

(A) 210

(B) 180.

(€) 120

(D) 160

ar gEanst & e & 3 H A
37 GT & SeX g1 Afe §8r gEdr
15§, dF gadl |&ar g

(A) 12

(B) 10

(€}, 5

(D) 9

Jﬁrwﬁuﬁéﬁmﬁwm
12533 @ &, @ udE e A
ECIERS

(A) 15 @&

16 GHT
(C) 10 @=T
(D) 25 @Y

1 9, 6 ¥, 8 AT somsit arer oAl
el &l gy Teh 37 g Selrdm
ST &1 S O &7 3T g &F%el

e

(A) 243 ¥
(B) 463 T#Y
(C) 486 A+
(D) 493 @Y
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120.

121.

122.

123,

(D)

The diameter of a roller is 84 cm and its
length is 120 cm. it takes 500
revolutions to move once to level a
playground, then the area of playground
is

(A)  1632m’
(B) 1584 m?
(C) 1817 m’
(D) 1532 m’

A sum of Rs. 1521 is lent out in two
parts in such a way that the interest on
one part at 10% for 5 years is equal to
that of another part at 8% for 10 years.
What will be the two parts of sum?

(A)
(B)
(€)

Rs. 926 and Rs. 595
Rs. 906 and Rs. 615
Rs. 916 and Rs. 605
Rs. 936 and Rs. 585

A person bought 8 quintals of rice for
certain rupees. After a week, he sold
3 quintals of rice at 10% profit, 3 quintal
of rice with neither profit nor loss and
2 quintals at 5% loss. In this transaction,
what is the profit?

1.5%

(A)

(B) 2%

(C) 2.5%

(D) None of these

A merchant had 50 kg of pulse. He sells
one part at a profit of 10% and other at
5% loss. Overall, he had a gain of 7%.
Find the quantity of pulses, which he
sold at 10% profit and 5% loss.

(A)
(B)
(C)
(D)

40 kg, 10 kg
40 kg, 15:'kg
40 kg, 12 kg
40 kg, 9 kg

120.

1405

122.

123.

T Aol d1 <A 84 VAT § AR s
SIS 120 QN B TH WA & HGT H
TAdd HT & AU TH IR Jeld H
500 TR 9T &, df Wel o H

FT &Th &

(A) 1632 #Hex?

(B) 1584 #He?

(C) 1817 #He?
(D) 1532 #He?

1521 9 &1 R T ar #af A 59
YR 3UR AT SI1ar & foh T HET W
5 guf & T 10% @ AT gaY 1T
9T 10 a9t & TIU 8% & AT &
SUEY &1 AT F T ST dled T ghar?

(A) % 926 3T T. 595
(B) %. 906 3 ¥. 615
() =. 916 3T % 605

(D) %. 936 3iX %. 585

wwﬁ?r;‘rgn—awﬁsﬁdaﬁ
Irael WAET| TH Jedlg & G, 38
3 [Gdeer g@ad 10% oM R, 3
Fdca aEe o ar o 3R 7 & g
qv 3R 2 fdeer Idd 5% @il WX
M| SF oeT-aeT H, WA FAT 7

(A) 1.5%

(B) 2%

(C) 2.5%

(D) =Tl & =I5 el

T&H AUy & g 50 el grer il
ag T ST A 10% @ W3R g
& 5% gIfel 9T d=ar g1 oo A
3¢ 7% T WAl EHT| Al T AT
g e, O 3E 10% o 3T
5% BTfel I¥ &

(A) 40 frelr, 10 fomelr

(B) 40 frelr, 15 fomell

(C) 40 fereir, 12 Tomelr

(D) 40 Fam, 9 fmam
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124,

125;

126.

127,

(D)

What is the unit digit in (3% x 6 x 77%)?

(A) 6
4
(c) 2
1
The sum of 5 consecutive even numbers

A, B, C, D and E is 130. What is the
product of A and E?

(A) 720
(B) 616
(C) 660
(D) 672

If a number is exactly divisible by 11 and
13, which of the following types the

number must be?

(A)
(B)
(C)

Divisible by (11 +13)
Divisible by (13-11)
Divisible by (11 x 13)

Divisible by (13 + 11)

The LCM of two numbers is 20 times of
their HCF and (LCM + HCF) = 2520. If one
number is 480, what will be the triple of

another number?

1200
1500
2100
1800

(A)
(B)
(€)
(D)

124.

125.

126,

127.

(3% x 6 x 7"') F SIS 3k FAT § ?
(A) 6

(B)
(€
(D)

= N B

5 @ANEd g7 FEaiii A, B, C, D
3R E &1 AT 130 §1 A 3T E @
?;vmwa-'m%?

720

616

660

672

(A)
(B)
(€)
(D)

ofe #% dear 11 3R 13 & goia:
fosa §, ar 98 dear Fefafed |
o R geR @I gl a1fge?

(A)  (11+13) & Fons

(B) (13-11) & fasmsx

(€@ (11x13) & fasmsT

(D) (13+11) & fassy

& weanst #1 LCM 3ot HCF @1 20
= § 3T (LCM + HCF ) = 2520 &l
Ifg wh e 480 g, o gl wEar

CANECICIE DI ClIY
(A) 1200
(B) 1500
(C) 2100
(D) 1800
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128.

129.

130.

131.

(D)

The pair of numbers which are relatively

prime to each other is:

(A)
(B)
(C)
(D)

(68, 85)
(65, 91)
(92, 85)
(102, 153)

6 . L
Moving = of its usual speed a train is

10 min late. Find its usual time to cover

the journey.

(A) 25 min
(B) 15 min
(C) 35min
(D) 60 min

The HCF of (x* - )_(2 - 2x) and (x* + x%) is:

(A) X - x> - 2%

(B) . x*+x

Q) x*3-2x°
X=2

How many three-digit numbers are
there which increases by 396 when the
first and last digit of the number is

interchanged?

(A) 57

(B) 50

(C) 45

(D) None of the above

128.

129.

130.

131.

eI HT 9% oA S TH gEl b
IR AT &

(A) (68, 85)
(B) (65,91)
(C) (92, 85)
(D) (102,153)

yﬂ?ﬁmﬂrﬂﬁ@rgﬂﬁﬁaﬂﬁ
arel Tk ¢oT 10 fAde & ¥ werdr B

AMET T A B AT AT FAT
A |
25 AT
15 fAere
35 A=
(D) 60 fA=T

(A)
(B)
(€)

(¢ —x*-2x) 3T (x3+x?) & HCF § :
(A) '
(B)
()
(D)

x> - x% - 2x
x* + X

2
x*-x3-2x

X—2

ggo 31 33 37 F 39T H a5
T 396 HT gfg Bl &7

(A) 57
(B) 50
(C) 45

(D) gt & &I o Tel
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132.

133.

134.

135.

A five-digit natural number s
considered and is divided by the sum of
the digits of the number. What can be
the highest possible ratio?

(A)
(B)
(€)
(D)

"2222.2
9090.9
9998 .
10000

If an eight-digit number 537867AB is
divisible by 6 or 7 or 9, then what is the
value of ordered pair (A, B)?

(A)
(B)
(C)
(D)

(3, 6)
(9, 6)
(7,2)
(5, 4)

A merchant mixes water in purest form

of vinegar and sells it at the cost price. If
he sells 2 litres of the mixture at Rs. 110
and gains 22.22%, find the quantity of
water in it before selling?

36379 ml
363711 ml
364611 ml
33679 ml

(A)
(B)
(C)
(D)

The average of five consecutive positive
integers is M. If each term is decreased
by 2 and five consecutive integers of the
old series are included, then the new
average is

(A) Increased by 1.5

(B) Increased by 0.75

(C) Decreased by 1.5

(D) Average remained the same

132. 9ig 3 f v gpe w@ear 3R

133.

134.

135.

S IE TEAT F A & AT A
faremfora femam stram _%1 3TIdd gaad
3T AT &7 Wl 872

(A) 2222.2

(B) 9090.9

(C) 9999

(D) 10000

537867AB U& 33 3l T TEaAT §
ST 6 a7 a9 ¥ ey g oar
SHIAT 3o (A, B) FT #AH F4T §?

(A) (3,6
(B) (9,6)
(€ (7,2)
(D) (5, 4)

T AU AT & YgdH §F H e
fAeTeR oeld {ed W SO &1 I
gg 2 ofer sor 110 39T & d9ar g
3 22.22% FT AT GTT AT 7, dl
IT A Ugel STH U Al HET AT
H
(A)
(B)
(€)
(D)

36379 Tl
363711 f@er
364611 fa.ei
33679 fa.e

qfer FAEE UACHS QUi &1 3iEd
M ¥ 3fE ueds ug 2 ¥ "er e
ST AR WEN @ & d9r" HARd
qulient &1 Qmfder X fedm sme, ar =T
AT g

(A) 1.5 % gfg &

(B) 0.75 & 3fg &%

(C) 1.5 & walr g%

(D)  3free adr T

37




Part-C: Numerical Aptitude

ANO7CGLT2023

AT T WEATeHF A19gar

136.

137.

138.

139.

The

expression?S5562 x 56

Unit's digit of the

256 % 971250i

given

S:

(A) 6
(B) 5
(C) 4
(D) 3

Each face of a cube can be painted. in
black or white colour. In how many

different ways can the cube be painted?

(A) 9

(B) 10
(€ 11
(D) 12

What will be the remainder if 468 is
divided by 1927?

(A) 16
(B) 49
(C) 64
(D) 21

Let N = 3029282726...4321 be a larger
number. What will be the remainder
when N is divided by 9?

(A)
(B)
(C)
(D)

0 N o U

136. feu (U Ut 78°°%2 x 56%° x 97120 &y

137.

138.

139.

SHIS T 3H g
(A) 6

(B) 5
(C) 4
(D) 3

S R R T de—
T ¥ WU ST Fhadl &1 G @ fhaer
fAeeT Y T @I ST GohaT &2

(A) 9

(B) 10

€ 11

(D) 12

IfE 468 &1 192 ¥ wfaa faar e

ar ANhel FAT GIIMm?
(A) 16
(B) 49
(C) 64
(D) 21

AT N = 3029282726..4321 U &2t
gEar g1 9 N & 9 ¥ fasniora fear
ST al ANl FAT gRI?

(A) 5

(B) 6

(c) 7
(D) 8
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140. Two vessels are filled with diluted 140. 2Y ¥deT o« Towrdileh TS O N g0
sulphuric acid, not up to the brim. ¥ @ AR aF g sdT A &
Vessel A has sulphuric acid and water in
the ratio 4 : 1 and Vessel B has water e AR A >
and sulphuric acid in the ratio 3 : 2. If 41 & I @ B A uel AR
twice of the volume of the sulphuric Fewgfteh TS @ A 32 §1 AR
acid solution .in Vessel A is thrice of that WP e “ﬁ e
of vessel B, then what will be the ‘
concentration percentage of sulphuric ol io i B & AT Bl Al
acid in the new vessel C, where both the T §, I A add C H OWewIRE
vessels’ solution are mixed up? oiRE &1 GiguT 9iaed FAT e, Siel

| ST Sciell ol Elel FETT 9T 67
(A)  65% (A) 65%
(B) 72% (B) 72%
(C) 78% (C) 78%
(D) Cannot be determined (D) a¥ =gr fFaT ST Hhar

141, {(476+424)" —4x476x424}=? 141, {(476+424)* —4x476x 424} =7
(A) 2906 (A) 2906
(8) 3116 (B) 3116
(C) 2704 (C) 2704
(D) 2904 (D) 2904

142. - If 60% of% of a number is 36, then the | 142. af& fanell d&am & —2— & 60% 36 &,
number is: ar a8 H@T%‘

(A) 80 (A) 80
(8) 100 (B) 100
(C) 75 () 75
(D) 90 (D) 90

Ao 39
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143.

144.

145.

A rectangular courtyard 3.78 meters
long and 5.25 meters wide is to be
paved exactly with square tiles, all of
the same size. What is the largest size of
the tile which could be used for the

purpose?

(A)  1dcms
(B) 21cms
(C) 42cms

None of these

(D)

When 0.36
form,

is written in simplest
the of the
numerator and the denominator is?

fractional sum

(A) 34
(B) 45
(C) 114
(D) 135

Which is the closest approximation to
the product .

0.3333 x0.25 x 0.499 x 0.125 x 247

(A)

(B)
(€)

(D)

;N ol Bjw 0)F

143.

144.

145.

3.78 #HieY @« 3T 5.25 Ay 9 s

SIAFR A H Wodd  GAE

AR H GidR el § g fhar
ST &1 TS &7 TaId J9T 3MHRN &7
¢ TSaaT 3UANET 39 3890 & ov fHar

ST Fhal 87

(A) 14 @=#r

(B) 21 @i

(C) 42 &t

(D) sofd & FIg =Tl

Sa 0.36 & GledH FeadlcAs &7 &
Tor@r Srar g, ar 3fer 3T g &1 A
(A) 34

(B) 45

(C) 114

(D) 135

3cUTE 0.3333 x 0.25 x 0.499 x 0.125 x
24 FT [Adeasn gfeaeed Sl @r §?

(A)

(B)

a
N ojlw Mjw 0F
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146. Given 168x32 = 5376, then 5.376+16.8 146. 168 x 32 = 5376 f&amT =@T g, ar
is equal to 5.376+ 16.8 R &
(A) 0.032 (A) 0.032
(B) 0.32 (B) 0.32
(C) 3.2 (C) 3.2
(D) 32 (D) 32
(67.542) - (32.458)" (67.542)" —(32.458)°
~147. The value of is 147. T AT §
: 75.458 — 40.374 75.458 -40.374
(A) 1 (A) 1
(B) 10 (B) 10
(€) 100 (C) 100
(D) None of these (D) ==1d ¥ FIS TGT
148. The population of a town increased 148. U& EAF H TUH AgL &I a?m'gq'r
frlfm 1,75,000 to 2,62,500 in a decade].c 1,75,000 & seHt 2,62,500 ar 'c"l'él
The average percent increase o . ay
population per year is ufer ¥ E i eI af@‘{
e |
(A) 4.37% (A)  4.37%
(B) 5% (B) 5%
(C) 6% (C) 6%
(D) 8.75% (D) 8.75%
149.  860% of 50 + 50% of 860=7 149. 50 7 860% + 860 T 50% = ?
(A) 430 (A) 430
(B) 516 (B) 516
(C) 860 (C) 860
(D) 960 (D) 960
150. Rs. 1210 were divided among A, B, C so 150. ¥ 1210 &1 A, B, C & &I 38 YR
that A:B = 5:4 and B:C = 9:10 then C gets ReSIg frar T 7R AB = 5:4 3R
B:C = 9:10 d C wid giem &
(A) Rs.340 (A) ¥ 340
(B) Rs.400 (B) =. 400
(C) Rs.450 (C) =. 450
(D) Rs.475 (D) %. 475
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PART-D: General English

Read the following passages carefully and
answer the questions given below.

Aristotle considered human nature, habit and
reason to be equally important forces to be
cultivated in education, the ultimate aim of
which should be to produce good and virtuous
citizens. He proposed that teachers lead their
students systemétically, and that repetition be
used as a key tool to develop good habits,
unlike Socrates' emphasis on questioning his
listeners to bring out their own ideas. He
emphasized the balancing of the theoretical
and practical aspects of subjects taught, among
which he explicitly mentions reading, writing,
mathematics, music, physical education,
literature, history, and a wide range of
sciences, as well as play, which he also
considered important.

During the Medieval period, the idea of
Perennialism was first formulated by
St. Thomas Aquinas in his work "De Magistro".
Perennialism holds that one should teach those
things deemed to be of everlasting importance
to all people everywhere, namely principles
and reasoning, not just facts, which are apt to
change over time, and that one should teach
first about people, not machines or techniques.
It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

During the Renaissance, the French skeptic
Michel de Montaigne (1533 - 1592) was one of
the first to critically look at education.
Unusually for his time, Montaigne was willing
to question the edifice wisdom of the period,
calling into question the whole edifice of the
educational  system, and the implicit
assumption that university-educated
philosophers were necessarily wiser than
uneducated farm workers, for example.

151. What according to Aristotle was the

ultimate aim of education?

(A) Cultivate habit of human nature
(B) Systematically teachers to lead
students to good habits

(C) To produce righteous citizens

(D) To bring out students own ideas
152. The word ‘Renaissance’ is derived from

the language.

(A) English

(B) Italian

(C) Latin

(D) French
153. Skepticis a person

(A) Who is rational in thoughts

(B) Who denies the possibility of

knowledge
Who believes in rational thinking

(€)

(D) Who accepts knowledge of all types

42
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154. Perennialism was first developed by 156. Choose the best answer for (1).
(A) Aristotle (A) wears
(B) Plato (B) are wearing
(C) Thomas Aquinas (C) was wearing
(D) Michel de Montaigne (D)  will wear
155. Explicitly is antonym of- ‘ 157. Choose the best answer for (2).
(A) Overtly (A) popular
(B) Implicitly {B), - ButdatEd
(C) expensive
(C) Utterly
(D) infamous
(D) Impishly
Read the cloze passage below and choose the 158. Choose the best answer for (3).

best a r:
nEwe (A) another

Jeans have become one of the most wdrn (B) the others

pieces of clothing in the world. Everybody (C) others
— - them, from the rural (D) the other
farmer to the urban lawyer and from

models to housewives. But why have

g 159. Choose the best answer for (4).
jeans become so — @ 3voull get

many answers. For some people they (A) for
look cool, for SRLBUE, | R jeans are (B) as
simply comfortable. Jeans were first (C) with
designed N S durable trousers (D) by

for farm workers and miners in the states
of the America ada tailor '
e i S i SaPl, 160. Choose the best answer for (5).

Jacob Davis, had the idea of using copper
(A) vaguely
bolts at the corner of the pockets to

make them stronger. They became (B) instantly

popular B} and soon many (C)  slowly
people bought them. (D) comfortably
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Find the correct synonyms for the given

words.

161. SUMPTUOUS
(A) Delirious
(B} Gorgeous
(C) Perilous

(D) Luxurious

162. INSCRUTABLE
(A) Difficult
(B) Moysterious
(C) Inflexible

(D) Wary

163. LOQUACIOUS.
(A) Talkative
(B) Thirsty
(C) Beautiful

(D) Complicated

164. TEMERITY
(A) audacity
(B) fearfulness
(C) shyness

(D) stupidity

9T & WA 373

Find the correct antonyms for the given
words.
165. LUMINQUS

(A) clear

(B) dim

(C) brittle

(D) . clever

AWE

166.

167.

168.

(A)  borrow
(B) shallow
(C) . low

(D) contempt

ROTUND

(A) round

(B). unimportant
(C) thin

(D) dull

MALODOROUS
(A) acrid

(B) pungent
(C) fragrant

(D) delicious
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Rewrite the following sentences in indirect

speech:

169;

170.

| said to my classmate, "Please lend me

your cycle."

(A) 1 ordered my classmate to lend me
his cycle.

(B) 1 advised my classmate to lend me
his cycle.

(C) 1| requested my classmate to lend
me his cycle.

(D) 1 forbade my classmate to lend me
his cycle.

Daman says, ‘Priya is working in

Ahmedabad.’

(A) Daman say that Priya was working

in Ahmedabad.

(B)

Daman said that Priya was working

in Ahmedabad.

(C)

Daman said that Priya works in

Ahmedabad.

Daman says that Priya is working in

(D)
Ahmedabad.

171. The teacher said, "What is the matter?"

172.

173

(A) The teacher asked what the matter

is.

The teacher asked what the matter

(B)

had been.

(C) The teacher asked what was the
matter.

(D) The teacher asked what the matter

was.

| said to my friend, "Can you swim"?

(A) 1 asked my friend whether he could
swim.

(B) | asked my friend whether he can
be swim. :

(C) asked to my friend whether he can
swim.

(D) I asked my friend whether could he

be swim.

She said, "l am coming just now."

(A) She said that | was corﬁing just

then.

(B) She told that she has been coming
just then.

(C) She said that she is coming just

now.

(D)

She said that she was coming just

then.
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- Choose the correctly spelt word.

174. (A) Referigerator
(B) Refridgerator
(C) Refrigerator

(D) Refriderater

175. (A) Parliamentery
(B) Parlimentary
(.C) Parliamentary

(D) Parlamentary

176. (A) Recedeing
(B) Reeceding
(C) Receeding
(D) Receding

177. (A) Beligrent
(B) Belligerent
(C) Belligrent

(D) Beligerent

178. (A) Beguele

(B) Beiguile
(C) Baguile
(D) Beguile

Find the misspelt word.

179. (A)
(B)
(C)

(D)

180. (A)
(B)
()

(D)

181. (A)

(B)

(C)

(D)

182. (A)

(€)

(D)

Advocacy
Aristocracy
Democracy

Courtecy

Surveillence
Stupefaction
Preferential

Detrimental

Recommend
Alluminium
Cemetery

Satellite

Radiant
Salient
Valiant

Brillient
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Find one word substitution:

183.

184.

185.

186.

A hater of knowledge and learning:

(A) Bibliophile
(B) Philql_ogist
(C) Misogynist
(D) Misologist

Commencement of words with the same

letter
(A) Pun
(B)

(€

Alliteration

Transferred epithet

(D) Oxymoron
A sad song:

(A) Ditty

(B) Knell

(C) Dirge

(D) Lay

A person who loves everybody:

(A) Cosmopolitan
(B) Fratricide

(C) Altruistic

(D)  Aristocrat

187. One who cannot be easily pleased-

Fill

(A) Cosmopolitan

(B) Frightening

(C) Fastidious

(D) Feminist

in the blanks with appropriate

prepositioné:

188. She succeeded

189.

dint of
perseverance and hard work.
(A) with l
(B) by
(C) to
(D) for
Birds were seen moving one

place to another place

change of seasons.
(A) to, with

(B)
(€)
(D)

from, with
from, for

with, for
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190. He hinted ——— some loss of 193. Who is creating this mess?
LEo e (A)  Who has been created this mess?
(A) at (B) By whom has this mess been
(B) for created?
(C) on (C) By whom this mess is being
ted? |
(D) with freee

191. She has not read anything

Monday.
(A) from
(8) for
ey “on'
(D) since

In the following questions, a sentence has
been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one
which best expresses the same sentence in

Passive/Active Voice.

192. | remember my sister taking me to the
museum.

(A) | remember | was taken to the
museum by my sister.

(B) | remember being taken to the
museum by my sister.

(C) I remember myself being taken to

the museum by my sister.

(D) | remember taken to the museum
by my sister.

(D)

194. The boy laughed at the beggar.

(A)

(B)

(€)

(D)

195. They drew a circle in the morning.

(A)
(B)
(€)

(D)

By whom is this mess being

created?

The beggar was laughed by the boy.

The beggar was laughed at by the
boy.

The beggar was being laughed by
the boy.

The beggar Was being laughed at by
the boy.

A circle has been drawing since

morning.

In the morning a circle have been

drawn by them.

A circle was being drawn by them in

the morning.

A circle was drawn by them in the

morning
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Fill in the blanks with the correct modals.

In the following questions, the underlined

part of the sentence may need improvement.

196' You pay for the damage Below are given alternatives which may
done! _
improve the bold part. Choose the correct
(A) could alternative.
(B) would
NOTE: In case no improvement is needed, your
() “dare answer is No Improvement.
(D) should
199. ‘With no rain_and’ any access to clean
197. We - to do a lot of work water many farmers will lose their crops.
before the event starts. (A) There s no rain and no
(A) would (B) Without rain and nor
(B) need (C) Without any rain or
() ha.ving (D) Noimprovement
(D) are
200. When she regained consciousness she
was ‘stretched in the ditchout’, soaked to-
198. | go and check the :
the skin.
arrangements downstairs. :
' | i i tched
(A) should (A) outin the ditch stretche
(B) “wotld (B) on the ditch outstretched
(C) might (C) outstretched in the ditch
(D) can (D) noimprovement
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77
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51

52
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59
60
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27
28
29
30

31

32
33

34
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46
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49
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